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70m>OUF LFDE

[t IS K £ 2 ®)O|E 70m1) | 70m@2) | & & | 10-X g &
1 2 A JAW, X ) FEE 2 296 273 569 8
2| 3B | BE HwAH | EF H A 2 267 285 552 12
3] 2cC iR =ZTE FRILOM 268 273 541 6
4] 2D neg tis FEE 2 221 235 456 6
5] 1B | =K FTEF | BifoE 2 201 236 437 5
6| 1D| EH Z—a) | FEEM 2 226 202 428 1
71 1A BiE BEK FIEE 2 198 227 425 2
8|l 3cC BE KB FRILom 2 210 208 418 2
9] 3A INE KF] FEZEM 2 162 162 324 0
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ER290FE FoRIEKMiLEs MR
70m>HUE BFDER
IEfz| & K 4 2 R | F 70m(1) | 70m®2) | & & [ 10-X 5 &
1l 7A| E&E #IK FEEM | 3 310 309 619 18
2| 5A | WX B&E FEEM | 3 307 310 617 14
3] 4B | BA [ER oM | 2 286 317 603 9
41 MA | K B FEEM | 2 292 299 591 12
5] 6B | #E ZER | HiWOM [ 2 302 287 589 8
6] 6A | INEE KIE FEEM | 3 293 294 587 10
71 5B | T KiF oM | 2 278 297 575 8
8] 7B | W& K&K oM | 2 279 293 572 7
91 9cC | #EO Mt | FEZRM 290 279 569 7
0| 6Cc| EZR E FEEM | 2 275 290 565 10
1] 10A | AREA BX | FEEM | 2 278 286 564 9
12 10Cc | BEA wak | & E 256 294 550 7
13] 6D | FE M | FERH | 2 268 278 546 6
14| 7D | ¥F¥H &7 FERHR | 2 272 271 543 8
15| 4Cc | &K KN FEEM | 2 253 271 524 0
6] 7¢C BH JRE | FEXM | 2 265 255 520 4
171 8Cc| =EH B FEEM | 2 257 262 519 5
18] 10D | #1L #B1E 2 HBEB | 2 261 256 517 10
19| 8D | HFE#E X FERHR | 2 251 259 510 6
201 9D | HHE X=E EFHE | 2 247 262 509 6
21| 1D | HRE HX 2 HBEB | 2 259 250 509 2
22| 1B | ZfgF I(RIE oM | 2 260 247 507 7
23| 4A| FHA BEA FEXEM | 3 250 246 496 6
241 8A| EAK FEEM | 2 249 240 489 2
25| 9A | ik i\ FEZEM | 2 260 207 467 8
26| 9B | Lk &KE oM | 2 228 224 452 5
27| 10B | Mk HEE wiom | 2 205 232 437 2
28] 5D | HEBE i oM | 2 170 257 427 4
29| 8B | HISEKRE | #LOM [ 2 187 233 420 2
30| 4D | #L #HEE wiom | 2 209 191 400 3
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50m30m7 UK ZTFDER
IEfz| & K 4 2 & [FHF] 50m 30m & & | 10-X 5 &
1| 1B| XiF BR | FEEM | 1 252 319 571 14
2] 1A| BF @Y p= = N I 245 318 563 10
3] 2B | RBE KK FEEM | 1 197 278 475 7
4] 3B | BREBEKRE | B 0 | 1 186 284 470 4
5] 2A | EM =R mR/\iE | 2 143 256 399 2
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IBGz| L& K 4 ¥ K |FHF| 50m 30m & & | 10-X & =
1| 7B | &=EZE #MN FEEM | 290 328 618 9
2] 6B | X%H (&t FEEM | 1 248 302 550 9
3] 5B | EF #HKX FEEM | 242 306 548 11
41 6A | XME E&F BRI fimtis | 1 239 302 541 13
5] 7TA| AR BE BRI fintis | 1 241 300 541 7
6] 4B| HH EK FEEM | 228 304 532 11
7] 3A| FEYIE # p= = N I 247 281 528 6
8] 8B | ZFEHA X¥ FEEM | 225 300 525 9
9] 8A | M EHAER | BIMIE | | 206 299 505 9
0] 4A| AR # R E | 2 193 296 489 7
M| 5A | HH E# Bifimis | 2 173 238 411 0
BOMWZ VR ZTFDER
IEfz| & K 4 ¥ R [FF] 0m@d) | 30m@2) | & & | 10-X & &
1T 10A | /M FYA | FEXR | 1 283 267 550 3
2| 10B | T¥H i FERHA 1 259 267 526 5
3OMmWSOUR BFDE
IBGz| L& K 4 2 KR |FHE] 3om() | 30m@2) | & & [10-X " =
1l11B| BR D FERR | 1 305 290 595 12
2| 11TA | /AR KRF | FEERM | 1 279 296 575 5
3| 12A | deH BZ FEEM | 274 266 540 4
41 12B| & B FERR | 1 227 271 498 4
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